Question 10: If the quadratic equations x? + ax + b = 0 and x? + bx + a = 0 (a # b) have a common root, then the
value of (a+h) is

Solution:

x> +ax+b=0.()

x2+ bx +a =0..(ii)

If ais a common root of a;x%+bx+c; = 0 and ax2+box+c, =0
0?/(b,cy-bycy) = a/(azcy-a4¢,) = 1/(a;byma,b4) -..(0)
Comparing (i) and (ii) with above equations, we get
a;=1,by=30c=b

a=1,b,=bcy=1a

=>a?/(a*b?) = o/(b-a) = 1/(b-a)

=a=1

So 1/(a%b?) = 1/(b-a)

=> (a-b)(a+h) = (b-a)

=>atbh=-1

Hence option b is the answer.



